MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

TWO DIGIT DECIMAL NUMBER iff: Soomer
50 —0.06 x 0.33 = 316) —8 X 8.8 =
02 0.2 X (—1.6) = 317 0.08 X 3.3 =
303 (0.006 x 0.0084 = 515 0.08 x (=5.6) =
01 0.0001 x (—0.45) = 19 —0.6 X 0.66 =
305)  —4 x 0.0081 = 3200 —0.0008 x 0.078 =
206 (0.009 x (=93) = 321 (0.7 X 2.8 =
207 —0.08 x (—0.024) = 22 —(.0003 x (—8.2) =
38) )0 x ()= 323) (0.6 x 0.0095 =
309 —0.0001 x 0.0029 = 29 —0.0007 x 0.0046 =
310 (0.0003 x 0 = 125 —0.08 x (—0.051) =
1) 0.0004 x 0.0035 = 1260 —(0.04 x (=37) =
3127 —0.0001 x 0.082 = 27 —1 x (—0.48) =
313 0.07 x (—0.0008) = 28 0.006 x (—=7.8) =
51 5 % 0.08 = 32090 —(0.004 x 0.74 =
19 —0.0001 x 9.5 = 30 —0.05 x (—43) =
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